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suflpemm (sSleor sretor. 1 (paev 6 susmi)

Spangyn  aner&sefls  eeTasT [
ssgsasT g GHOICL afdullsrug
auflmsiu@ssou’Bsrsrsar.  GasrafléEHl
(7 Euouc@srer @logdla  aflurs
GlumsE 55 Snlglt) sreonr enoflsmenr [
TusHemer ClarBasiu Rerer 4 wrhHy
aflenL &eflallmEa CoihelsGissaD.

Al \l \ ‘}H'\

9, 1‘3.";+ 7217, .

Wﬁ ) 115

T-}ll-‘.h 4) 124

I‘,,_-;“""r
o 1 ﬁ 1 izn 720, ? N s
1) 5004 40
3) 4040 4) 3040

. 4. 1\:155;1.:):"1&;\!

1) 18 2) 32
3)8 4|§F§

A2b6, B1S,...... e

i--

)Yl
4) £26

sa%;m"?@ 2, 50, ({1

3) 18

£ A% E

l] E t"n.‘l‘ - ol
3B

J\

Tl._n'l. E'{Fh

anflemm (eflsorm svegor 7 wmmih 8)

AL O A Glgm_ifls e
qupsgssst  aflpul DeTarer.  ommens
Caigg Ggm._flemear SELOEHS T
ST SHipsitem Qgmira 2|SOLDILYLD.
2isuGleuipdgissmer LoTmmI
alen.sefledimig Cammels @ ss:

0°_bbece ¢ d ddeecec
1) bede 2) bece

3) acde &Tide
(

X26
) Y1
) Y1082

rw?

25K § ( Ji0_B2A |

&7 181

4) Y11B2
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Direction (Question 1-6)

In each gquestion, the numbers / letters
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the symbol (‘7°)

9,28, 05,2, 217, cvreernen
1) 126 2) 115
3) 116 4) 124
1,2, 6, 24, 120,720, ? ... '“\q
1) 5004 2) 5040
3) 4040 4) 3040
36.4,18.8.9. 16, 2 ..........
1) 18 2)32
9
1Hs 4) -
) ) 2
-
A26, B2S: voiieiie ?
1) Z 2) Y1
»HZl 4) 7226
5 7. Ilkl‘}. 2 (Y
N3 g 2) 31
318 4) 26
Aq Ai B‘q Eq. C! l1. Dy M! E1 7
DHE 2)F
3)B 4)0Q

Direction (Question 7 and 8 )

Some of the letters are missing which
are given in that order as one of the
options given below. Select the correct
option.

__bbeee _ _ ddeeee

1) bede 2) bece

3) acde 4) adde

X26 \&K _J10_ 2A
1) Y12 2) Y11B1

3) Y10B2 4) Y11B2
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10.

11.

12.

B

sulflpeom (aflsor eTer. S (pHEd 11 ausmi)

SPSHETEYD  CUSHTLIL Tl ETEUET e ITE0/
rsgssaTe  GHIOICL aflBuSlsimLig
SjemLahSUIUL BT G, Qar@ésiul L
améssi 7?7 GOfLiu L G gms
Henpey Qeiyd  ersdrenflsnen/srigdSlene

CamCsHIHs ‘e
L w
146 . ;\‘V ? \{’tf“h

= A 9.
Y
LA /\
A 73% b
B o 337 o 832 7 38
ﬂm 2) 118
314 4) 112
G v R 10.
(P
o I A L N
ﬁr\- 2)S
Ho Hv
O (Y
[~ A a0- | b | deel risl S
7. 9 [ajl (08 | 29 |
)13’ ols
316 H17
aufipsmp (eflearm erstor. 12 (pged 15 susnn)
spsuleum(m aflsarmefigyd Gepmigl 1
@I &Hlemenr QarEasiu Herer 4 wrHm
Se_acfelGis Coib0sG55 B
Qi Coustr@h. *: ' st G HiEE
wpetremt @@ urigemsser  GHML
UESsIL. Bereng. SEs  Gsmm
Sy usilé@in suenaulled *: 2 eTeaD
(G TG 1) \Ssareori S|EDLOLD
UM &enS5EmD Lol Gastor HiD.
Operator : Machine : ; ===~ - : Driver b
1) Captain 2) Ship

3) Aeroplane mus

Iﬁ:P::——-—-—:W{\ 13.
1)22 23

3) 21 4)20
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Direction (Question 9-11)

The diagrams and the numbers /
letters follow certain principle. Find
the missing number / letter indicated
by question mark (*?")

T? 146 ?
18 < 2 38

1) 116 2) 118
N 4) 112
{1 b R

W e P R L N
T )8
Hu ETR
Eanule] o | 7% ?
LI SR
1)13 \ )15
3) 16 4) 17

Direction (Question 12-15)

There is a blank space in Question
12-15, in%ayhich only one of the four
alternatives given under satisfied the
relationship as is found between the
terms on the other side of the sign *: &’

Operator : Machine : : - : Driver
1) Captain 2) Ship

3) Aemﬂﬂne 3) Bus

16: P2t -t W

1) 22 2) 23

321 4)20




|'l'

17.

18.

19.

20.

15:224;: 12 : ———

1) 2258 2) 243

‘3) 145 "_ﬂﬂ

Girl : -—-——--—-:: Boy : Handsome
1) Smart 2) Tall

3) Fair - "Pem:til’ul

sutflpsmm (afleorm stever. 16 — 24)

dipangmid alsrm s meg el Gumm,gsiomer
silem_Slsmsnr  QenBésiuarer 4 womHgy
sSlen_assleSlnig CoiQa@amayn

‘Ring’ steitugy) ‘gold’ sreoflsd “Chair’

BT
ﬁlﬂd

2) Paper
3) Table 4) Bench
‘TROPHY® ssirug) ‘Sports’ srafli

‘DEGREE’ sistrugy

1) Examination
Cducation

2) Convocation
4) Paper

Go0T, . P, Game oy dlwnmnm s
Glgm_mysmLiwg)
;@mmfn 2) mismmuiiysh

ma, 4) ssoalired

CarBissiucL 4 sum s afls

Gam_mummans 2|smuwLD s &ems
1) serafiumLorfl MUBLSSTT
) HoEnataldl  4) rEgISHE,
CarBiaain’ L 4 srsmmeafls Qsm_fumm
ST L A “l“i -
S S 'F?_*f rd
25 g5, 2) 81 fe
3)196 % $256 L
g 4L lovs o5 t;‘j
QETESEIUCL 4 nTEmesaflih 5’1— <
Qam_TuDmETs SEmoud TGS ~
1) Talking 2) Speaking
'Fmelling «4) Crying

388/108—5
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15:224:: 12 ; ——-

1) 225 2) 243

3) 145 4) 143

Girl : ~——--——--- : : Boy : Handsome
1) Smart 2) Tall

3) Fair 4) “Eﬂllw

Direction ( 16 -24)

Identify  the most  appropriate
alternative among the given four
alternatives

If *Ring’ is related to *gold’ then
‘Chair’ is related to

1) Wood™s

3) Table

2) Paper
4) Bench

If “TROPHY" is related to ‘Sports’
then ‘DEGREE’ is related to

2) Convocation
4) Paper

1) Examination
3) Education

Which of the following is connected
with eye, nose, skin?

1) Heart 2) Lungs'w&

3) Ears 4) Liver

Choose the word which is least like
other words,

1) Kanyakumari
3) Tirunelveli

2) Coimbatore
4) Tuticorin

Choose the number which is different
from others.
25 g
3) 196

2) 81
4) 256

Choose the word whizh is different
from others.

1) Talking 2) Speaking
3) Smelling 4) Crying
'\;‘



22,

265.,

Q7 * oo 26~ ofluTirés s eméig aflemwieflde.
¥ =ge

6 dasinsai Quily st g T 25.
Dp X & i3
iy 1) s+ 2P >¥

24:_/ Cupsan.  Gufoassfld  adéenm 26,
gfhumesr & Mo ?
1)ptq<risy 2) ptr = qts
Hp#ry ﬂ'ﬁ #q.
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E}Qﬁ sreaTuglsh P eretrusui Q-aflgient w 22,

S

P+Bereirudid P ersirusui Q-sir wemerel)
;t;ﬁ(;*;ﬂms&rug, MG Gummsstomsar
&g

1) A ersarusurr B-uflstt gjibuom

&8 ssirusui A-uSsir wess

3) A sretrusurt B-wSlstr g)&5m8
4) A eresrusur B-ullstr #Ganaifl

S soLwsnsr Grrédl s Gusir “He is 23.

the son of, the only son of my .

grandfather” stend & flemed j;m""'h
2|LGusTrswflihE Db smLwsDT 616 s0T :4_ -
2 ma,

1) sGargifl ﬂanﬁmﬁr

3) waseir 4) gihend

S0 GOLLGHY GELUSSmuaT g 24,

wemerall, 3 W&HSTST WHMID  HEUTHS)
LosmerafiLi(mLD DL BiEH6uIT. Gogyib,
UG, WSEISED 3 WSS WHTILD

Eiresr(Bl  waeTmeT 2 swemerm  sTeflsy

SSGEOUSED  oder  ayemsafsn

sTear saafldsman s,

1) 11 2) 18 \%ﬂhﬁf_.m
U AS 4) 21 B L

uiflpenm (aflserm stedor 25 wommtd E}Q’@

p,q,r,s%ﬂmﬂnﬁ&ﬁ!y+q>f+s; p
+r=q+swhmb p = ; (q + s) stafled 25
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If P*Q) means P is the father of Q
P+B means P is the wife of QQ then

which ofsfge following statement is

true for A+C*B

1) A is the mother of B

2) B is the daughter of A

I Aist unt of B

4) A is the sister of B

Pointing towards a boy, a woman said
“He is the son of, the only son of my
grandfather™. How is that boy related
to the woman?
1) Sister

3) Son

2) Brothe®
4) Father

A family has a man, his wife, their
three sons and their wives. The family
ol every son also has 3 sons and two
daughters, The total numbeMof male
members is

11
3)13

2) 18
4) 21

“

Direction (Question 25 and 26)
P, q. T, s are four numbers such that
ptq b--:,tis and p + r = q + s. Further

p= ; (q + s) then answer the

questions 25 and 26

Which number is largest? ‘\

p 2)q
IHr 6' 4)s

Which of the following statement is
correct?’

) p+q <ris
Hp#r

2) p+r:t{‘1|h\,
Hp=q

e
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auflpsom (aSlsur sreser 27 — 29)
ClsrHss0u Rerer &ERELS)E EMET
SIS Lig &g 27 (g6 29 susnruSlsumsr

aileorTTénes s eflsnL wefld ey

6’{/ A sy sorauni B-s afl. 2 wmb: C SLeTaui A-
& ol Geremwomsmaud : D Speoeuii E-gn
ol s woneresi  ayemd) Bem el

(& ST 6T LOM sar Ut sTéafls Blaiseafls
@ STSTLOMT St

ﬂ'ﬁm 2)B

3)C 4D

28. 80 SLLlutswide P, Q, R, S, T
SHGWT Saks Qsme s, P L o7
Q&g (ersrarsan 28T R-Gg
dsirem graauh sumdpmi, S Spemsui T-6 .
YaTeTGraan Q-G dls&mrgrmpph;
uGADTT el Ubsugdeh Cebihi
Ehﬁ)mmr‘r f
1) 2)T is
ot bs
29, B0 0 Guiiivafi b 25 gy G
a_sremsar. “All but fifteen died” srefis)
B peiten. o (e aflsir svstoremfidssmas

1) 15 2) 25
ﬂlﬂ 4) samSEL Qunng

sulipsnm (eflsor stedr, 30 (P36 34 susmr)

sllemL_wisld & ayih.

A B, C, D,'E, F ayfiGumi eu'L

auly 6l Qyuoigiersrari. B Spsreuri F

b C-&@ Blemuliguin ; A S soreuri E
- b D-&@ Esmuflgnn : F aysusuri D-

66 @ lubastenn oo geremsi

sTexflsl
W Abei Fisih et S0 GleiTemeurt
| ﬁw 2)B
| HE 4)C
P F
o
P i
388/108—7 c
www.TrbTnpsc.com

www.Padasalai.Net
3 P
LK

E-'
?{'}%cctiuﬁ[()ueﬂion 27 -29)
b Read thegnformation carefully and

answer the questions 27 to 29,

27. If Ais taller than B: C is shorter than
A: D is taller than E but sho!ji!r than
B then the shortest person is

1) E 2)B <
IHC 4D v

28. Five boys P, Q, R, S and T took part
in a race. P finished before Q but
behind R S finished before T bu
behind Q. The person who won the

race is
)P T
JR 4) 8

29. A shepherd had 25 sheep. “All but
fifteen died” the number of sheep left

with is
1) IS 2) 25
3) 10 4) Can’t be determined

—

Direction (Question 30 — 34)

For the given situation, answer the
questions 30 — 34

Six persons A, B, C, D, E and F are
sitting in a circle. B is between F and .
C; A is between E and D; F is to the

left nfl,).‘

30. Who is between A and F?7N |
1)D 2)B |
JHE 4)C [ i

% |

E A D




34,

37

B-&@n C-&@h @enL uSlge-mjofhgiemarsur
1) A sreu(mLilebemen
HD 4) E

E -8 ausuius S0 o)ofhaismsrsut
qfiéi 2)B

irD 4 C.

F -G @I OUGSLD D)DITESi6mseurt
ﬂ/lg. 2) A

3HC HD

B-&(g @L0usESL0D SjonhSersmam
HE 2)D

3)A -

suflpsnm (aflsorm sever. 35 (pmed 39 ausmi)
SQsTEmd ULSHmar Saamors Ut S
35-39 susmmuSlsomenr aifl6nTIT & 5 (6T ()
sflenLwefl&ssab

GFauanISID — 2 WITLOMsaTsull
sul_L 1D — eflsmemwm’ (5 el
(p&CHTEmTLD ~ Dl Sa Temin 2_sTamsui

..- 3 &
40
o wmanm - Syfie)g. i [@esurg
aflsmsmum’_ (R afyiseaflsr sradoranflans
1) 24 2)5
3)43 6

2 winorer aflsmsmum’ B af7T 61 &emer
Quit ?
)8

o

@ winome oifljs. fsmin o sirem

sl (R &yt eTggemenr Guit ?
1;%?”“ 2)9

38 4) 30

2) 19
4)21
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Who is between B and C?

1) A 2) none
»HD 4 E
Who is right of E?

1) A 2)B
»HD 4 C
Who is left of F?

1B 2)A
3)C 4D -
Who is left of B?

1)E 2)D
HA 4)C

Direction (Questions 35 - 39)
Study the following figure carefully
and answer the questions 35 - 39.

The rectangle represents tallest;
The circle represents sport persons ;
and the triangle represents intelligents

40

The number of sport persons who are
neither tall nor intelligent, is

1) 24 2) 51

3)43 4) 16

The number of tallest sport persons is
1)8 2) 19

3) 30 4) 21

3
The number of tallest intelligent sport
persons is
1)3
3)8

2)9
4) 30



42.

amerwmn’ @  efmiesT  oyeors oyl 38.
&, TEDLOWIDHD o _wiLomsareulf &erfles
?ﬂ&m

40 2) 76
3) 67 4) 46
a_wirLone SifleysTaTauiseT 6T HGemner Guir 39,
1) 30 2)3
3)6 " 2l

anflypsnm (eflerT steim. 40 (s 44 auenn)

Sjorgmh  Huipmms@se 2Lul6
40-44 aenieomer  aflaMssERSE
aflsmL_waflésayn

‘1LWISH YOU ALL SUCCESS’ stetiugy 40,

YKUJ AQW CNN UWEEGUU’
srer 2 (HaUrSSLULLTR “YOU CAN”
sm'lmg.sirr @m‘un_rrm sumigemgusler 3-
gl TYSEET 2 BTG
nQ P
3)0 4) R

‘CHENNAI' séirug ‘DIFOOBY eter 41,

2 meurdasiul Lme ‘MADURAL steLgem
2 L nBEV SR

2 _(HEUT&HaSLD

%;;EVSBJ 2) NBDVIBJ

3yMBEVSBJ 4) NBEVSBK

‘SQUARE’ eetrugl “1917211185° ear  42.

a_meauTS s L ITs ‘RECTANGLE’

STRTLIGSIT 2_(euT& S0 (87 $RI

1) 1753201147125 3201147125

3) 1953201147125, 4) 1853201114126
~L-pte=f] - - lra =

oy i Gns 7

“YOU' ersirugssir a_maundsi 60; ‘HE-ar 43,

2 maurssn 13 ; ‘?HF’-&[_;@!’,&W&H&
gab

32 sreuflsd 'IMFfdr LBEJ?I’
Hie P74 219
3)17 oris

333%5-9/ $19. 2
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The number of tallest persons who are
neither sport persons nor intelligent, is

1) 40 2)76

3) 67 4) 46

The number of tallest intelligent
persons is

1) 30 2)3

3)6 4)9

Direction (Question 40 — 44 )

For the given situations, choose the
appropriate option for the
questions 40— 44

If “WISH YOU ALL SUCCESS’ is
coded as ‘YKUIJ AQW CNN
UWEEGUU’ then the code of the
third letter of the second word of
“YOU CAN" is
1)Q

»HO

)P
4R

If “CHENNAI is coded as

‘DIFOOBJ* then ‘MADURAI' is
coded as ~

1) NBEVSBJ 2) NBDVIBJ

3) MBEVSBJ 4) NBEVSBK

If ‘SOUARE’ is coded  as
“1917211185" then ‘RECTANGLE’ is
coded as

1) 1753201147125 2) 185 [!'_!]47125
3) 1953201147125 4) 1853201114126

If ‘YOUWis 60; ‘HE’ is 13 and ‘SHE’
is 32 then *‘ME’ is

2)19
4)18

1)16
»n17

L
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4 PHYSICS marugl 11+19+2+8+18424+8 44, If ‘PHYSICS' is 11+19%806 Pgasaiqighet
’ ﬁf; *HISTORY" ereirus then ‘HISTORY" is
19+18+8+12+9+2 1) 19+18#8+12+9+2
2) 19+18+7+12+9+3 2) 19+18+7+12:+9+3 5
3) 19+18+7+12+9+2 3) 19+18+7+12+9+2
4) 18+19+7+12+9+2 4) 18+19+7+12+9+2
anflpsop (efler eresor. 45 (e S0) Direction (45 - 50)
Sipsangmid anruLhisst Haflgseflures 3 The following diagrams show some
o mlyaefsT QBTISH@ES GSTETL Sl relationship among three items. For
gaiQame eflamaligih GarGasiuCGere each group of elements there
(A) isoegl (B) g (C) Ssgl (D) corresponds one diagram (A) or (B) or
oeeg (E) Qer@iysst qea@D G (C) or (D) or (E). Select the diagram
UL e DearambsHing DG for the questions 45 to50.
&) HTST0T .
S ©) 00 © %0
A B Q A B Q
' ©O0 9 ©o
D E
D E o
G s5G,gemuuamp, Gafiump 45. Home, Kitchen, Bathroom |
ot 2) C 1)B 2)C
3)HD 4HA 3)D HA <y
4}.’ SOHETE, Hmsd, @amuibLS gt 46. Tamilnadu, Trichy, Coimbatore
1) A 2)E 1)A 2)E
3)C o 3)C 4B
47. Cugs gl DiBsustimg, Smi 47. Bus, cycle, Car
) 2)A 1) Bl 2)A
ﬁl 4)E 3)C HE
48. L EMETT ST, [HLEET, GisosonSimensflassi 48. cats, dogs, pets
1)C 2)D 1)C 2) D
3) A o8 3)HA 4)B
49. ?ﬁuﬁ , SUOPETE, uheobisT 49. India, TamilNadu, Srilanka
E : 2)A 1)E 2)A
3)C 4)B ) C e 4B
388/108—10
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53.

54.

S i

DA sseir, oy e oy Aiflwitseir, oppasmsmr

5007 2y Fiflwii ssir

1)B Qf

3)E 4D

auflpenm (aflsorm stedbr. 51 wimih 52)
CsrRS&S0IUC Hsirear & (1h & 1 & EmeTTL LD,
Flene sememuid, Cgsflsuns yfig)
aflem_ el sayth. L

RO Sa1g) ot Olmia o de Crréd
50 1 gmmb s Asirari eysory Syeraflsy
(45°) @Ls ussurs Sl Setreri
wenLuilensr @Qam_idpmi sresfled HnGurg

A ereitusuii B-6i@ Oapdlgnd C et
Big  Sysfign  @oiemo Ao
Gurmigg C srddaauish a_sirermi ?

) ar Syée dﬁfcmm @«%
4) Cigeir G

J) Qgeir diyé, ~

anflupenm (flesr stsoor. 53 Lmmnb 54)
afl_uflsd o grer BT6G  aumiGensaefis

S5 SUMTT &6m; GlamHas0u [Hsrar
M gengsafldd o ser TP SIS SHETTE)
2 maurssUuLailshane. .Y.3-
QU &6m g uSlenear Cai Qs HdEsnn
Advertisement

’ﬂ::e 2) time

3) driver 4) never
Combination

1) notion 2) ion

3) motion ﬁitiﬂn

388/108—11/Si3. 2 o
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Teachers, male Teachers, Handsome
maleteachers
1)B
3HE

2)A
4)D

Direction (51 and 52)
Read the content, sense the direction
and 'an.s\?er the questions 51 and 52.

o

A man starts walking from his home
northward, a distance of 50 mts and
then took a half turn (45°) towards
left. In which direction is he walking
now?

1) South east
3) South

2) South west
4) North west

If A is to south of B and C is to the
east of B, in what direction is C with
respect to A? ;

1) North East
3) South East

2) North West
4) South West

Direction (53, 54) 2

Among the four words, one word can’t
be made from the letters of the given
word. Identify the word.

“
Advertisement <
1) tease 2) time
3) driver 4) never
Combination
1) notion 2) nation
3) motion 4) caution

%

o

e
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autflpen (aflearm sredor. 55) = _ Direction (55)
aflsmi_uSlsh 26T ETEN(S, mrrrrgmpmnﬁm Among the given four words only one
sGr an umsas, CesnbssuucGHensm word which can be formed from the
UMSMSETI o 6rer  TQYSSHIHHMTRD letters of the given word. Identify the
2_(meuT&SUUL (HsTemg. 255 word.
sumti SemGulement G kGl s(h&saL.
55. Newspaper / © 55, Newspaper
1) now swap 1) now 2) swap
3) nose 4) pepper 3) nose 4) pepper
aufipsom (efisor sretar. 56-59) Direction (Question 56 — 59)
— st (@OSH &t CRTEaND If ‘=" means*‘+"’;
% srear GOUIH auGSSauraEea)n ‘x” means ‘+’;
+ 16 (HOWIR QU SSaTEa)LD ‘+ means ‘x’ and -
el . ¥ 5 by S e}
= ererm GHWIE siflssarsaid GummsT =' means ‘-’ then answer the
Careirmed 56 & 59 susomuilsuer questions 56-59 by converting to
nilm&ﬁ@ﬁ‘gg sflsnL_weflésaib. original operators.
L H =
56. ﬁ § =3 eretTugeT WHY 56. The value of 18x6-5=3is
2) -5 )5 1) -5
312 4) 10 3) 12 4) 10
2
57. (52= 12} ‘8 tols STETLGET Lol 57. The value of (52 =12) x 8 +6-5 is
1) Toti = 2) 36 1) 40 2) 36
% 4) 42 3) 35 4) 42
58.  16x (ll};{ﬁ) =18 aréruger wdiy 58. 16 x(10-6) = 1- 8 gives
-6 2) 1) -6 2)6
18 3)-8 4)8
59. L DeL 6T EUMIIST 2 ST SHLOLITEIT &n M) 59. Which of the following is true?
6T 3
%ﬁmﬁu@‘& 2) 2x10 srsirug; 20 1)18x6is3 2) 2 x 10 is 20
2) 10 - 6 stsirugl 4 4) 16+4 sTeirug) 4 2)10-6is 4 4) 16 +4is 4
anfiipeny (s 6TaDT. 60 pzev 65) Direction (60 — 65)
QEF@MU%—L e f Choose the odd numeral / word / letter
aurmgmssst  lrpsgissafs sy, for the questions 60 to 65
whpmausafiBimig sefllés e g, -
25 CoikE6sHaes
60. b 2) 60. 1)b 2) ¢
3)d Q{ ' 3)d 4)f
388/108—12
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61. ﬂu( 2)b 61.
3)d 4Hf
E%,. ‘ﬁ;mana 2) Orange . 62.
3) grapes 4) pomegranate
63. 1) grand father 2) father 63.
3) brother other
g
64. ﬂg e 2)25 o 64.
3)16 ,° 4)49 >
65.  1)LMOR &LLoR 65.
3) ABDG 4) BCEG
sufilipemm (eflear sTevier. 66-75)
GamBésiu’ L Ersivg wimn e safl
Blal Gurmggwrer wrpm  efleoLulsmsr
GeisClaHide
66. B-ufleir anusng) Guimsitgy A-uflsir aunig @m  66.
LB, QST UBLESELEE YaTagns
A-flsr auwg Bl auwmsiCumsitgy
eLpEaT] LISt sTsofleh FHHCumangw A-ﬁrw
ﬂ.[l.lJﬁl ?‘f’r} F:\:ﬂ'
1) 2)16 R A
i 4)6 v -1
253" . ¢
67. S umensuuSisir (psTEmTS) 7.
Qoupmasmd, o5 UpmusE
deremsd @6 upmasesd, Qs
UDEEUSEHSE @lnLullsd g@m umsmanyd
Bos@uramse  Qurgs  upenaussflsr
sT et swuflciome, ’(
1)5
3)4 4) 6
68.  7899653428972459290647" sy e 68,
Qsmfld 9 ey  EasssHamer
Com.iig, 6 e Eesssos
6" (PSTETHITEs Qe e 7-aeflsi
(@ Wémﬁ
. 2)5
H4 4)3
388/108—13
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1)a 2)b

3)d 4)r

1) Banana 2) Orange

3) grapes 4) pomegranate
=

1) grand l’ather 2) father

3) brother 4) mother

1) 64 2) 25

3) 16 4) 49 N

1) LMOR 2) KLOR

3) ABDG 4) BCEG

Direction (66 — 75)
Choose the most appropriate option
among thg given four options

A is twice as old as B. Three years ago,
A was three times as old as B. The
present age of A is

1) 14

) 16 N
312 5

4)6

Two direks in front of a duck, two
ducks behind a duck and a duck
between two ducks. The total number

of ducks, is '
)5 2)3 |
3)4 )6

o
The number of 7’s in the number
series 7897653428972459297647 which
are preceded by 9 and also followed
by 6, is
1)2 Sy
34

2) 5
4)3



69, Criisuflenswns Sihgisiem Lomesorsuriasiled
sdlgr G pearasflgublmig 24-usns
suip@nisme  oauflmaufle 2 erer
ey surt &eifler st emfl&anas
1) 42 2)4
3)43 4

70. the day before yesterday was Sunday
W‘ the day after tomorrow sTeTLg

Thursday 2) Friday
3) Wednesday 4) Tuesday

71 9+ 4=7369413; 8 + 3 = 248311 sraflev
T+ q' |
1) 281174 l?§§;411
3) 287428 4) 112874

T2 prsnG @wés BslGufiu arefinei,
rrbrrm@ Gwss Assffu  aemamfihe
a_grem aflGHwmren
1) 9999 2) 8888 ﬁj@‘ )

&9 4) 9000 qy

73. eLpsiT) [@e0ésas 61600 aufld s
1) 999 Ilfgﬁ:n"

3) 111 4) 990

74. 80 ;meﬁm m}a:-rm'g.ﬂnr wesefl mmd Bl
yladr gery Comin  Grmsaflr
W&m

2)23
312 4) 22

75. A fan always has
1) Switch 2) Current
3) Wire lades

388/108—14
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69.

70.

71.

72.

e

74.

Toh

www.Padasalai.Net

0
In a row of students, Kavitha is 21"

from either end of the row. The
number of students in the row is

1) 42 2) 40 g

3)43 4) 41

T

If the day before yesterday~g
was Sunday, the day after
tomorrow will be
1) Thursday

3) Wednesday

2) Friday
4) Tuesday

If 9+4 = 369413 and 8+3 = 248311 then
T+4 =

1) 281174
3) 287428

2) 287411
4) 112874

The difference between greatest four
digit number and the smallest four
digit number is

1) 9999 2) 8888

3) 8999 4) 9000

The number of different 3 digit
numbers is

1) 999 2) 900

3) 111 4) 990

The number of times in a day, the two
hands of a clock coincide is

1)24 2)23

312 4) 22

A fan always has

1) Switch 2) Current
3) Wire 4) Blade.&._



auflppsom (aSlsorm erstior. 76 (pHed 80 susor, www.Padasalai.Net
A upgih B gy ukisenée Gty oo Asm iy o stengl. 20 wrdfwrsr Ggm_iy C
whgh D-S@b @EHSELraTmd  rhHo) o ser (0, @, @) @)-OmEg D-llsmars
CaihAsBEHMLD. '

Direction (76- 80 )

There is a relationship between the figures (A) and (B). The same relationship exists

between the figure (C) and one of the options (1), (2), (3), and (4). Choose the correct
option

76.

L1 & ?

A © ©)

77. K - . " by
P NPAN DI
L@@

C D

AN OE
Ol )1
(1) <"/> (3) \H}/

www. TrbTnpsc.com
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i C E} 2

. D

Selep g
VAN

D
A

B C
\/ /\ =
(’ 2) (3) (4)

auflpenp (sorméas 81 wpgeb 85 auenn)
Qar@ésiu’ L 3 uhissflar Qgm fsdurs D @msErerme D-uflsmer wmHmeSlsnL &6

M, ), @), @)-Nwig CHMOSEES.

Direction (81 - 83)
Select a figure from the answer figures (1), (2), (3) and (4) which would continue the

www.Padasalai.Net

series (A), (B), (C).
31- . _O T:kr
A B C -
?f/ (2) @ & T

388/108—16
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(1) (2)
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(4

86. Gar@asiu’L uLsdo o srer WaGaraumuseaflsr sramsnflsma
The number of triangles contained in the figure

s

(1) 16 (2) 10 (3)8

¥ s

87. ®m ussLwlsr @m GasuGauprar BHmausst L GHd smLiou’ Gsrarg. @@ 1-6r

STAITLGSHLD |FOLOWLD 6T600T

Twao positions of a hlﬂtk.;lre given below. When 1 is at the top, which number will be

at the bottom

(335

388/108—18
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88. 90O swéegr sugaid Qasmeirenomy Spersmib L S gisene) sl ojdmams
E8INSED 26 srefiymenr U&ESS 60 o st 6Tsgor

L]

A sheet of paper as shown in the figure is folded so as to forr. a cube. By identifying
the faces, the side oy posite to 2 is

2

(1 ﬂ/ (3) 4 (4)5

89, i

STETLIGETT ehstarsmrma uiled smeriU®L S

The mirror image of I s

| i I
( { 2) 3)

S e} :
90,

STEITLIZ; 63T &6t swurig uSled SETULBID L

The mirror image of

388/108—19
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=521 b4y
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i g P
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b
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sswflgn | MATHEMATICS

91 eflfzymn samasaflsr s Lk swefl 91. The additive identity of rational
______ ,g&@fn numbers is ' ~
o 2)1 )0 2)1
3) -1 4)2 3)-1 4)2
92. 2 ) {—_z] = 0 wrwhids Big b Lkrmsus 92. The property exists in the expression
> LD 2 % [ '_1] ~0,is
@& @i 5.5 .
1) &L ellstr ossflls sy 1) Additive identity
" L_sbletr sTéliosmmil LissaTL 2) Additive inverse
3) Qunsselsr swefll ey 3) Multiplicative identity X
4) Qi &esdlsir sTHinosnmUiLstony 4) Multiplicative inverse v
93, : , ; a s nnirm@é oy s e o 93. J; rahm;al number between
& d 1
& afl& Gy sTesr il
32 38 32 38 R
i e 7y
D% ) 40 "4
36 31 36 31
il Q"‘?_ J) — 4) —
9 40 40 ) 40 ) 40
94. 2'= 16 sreufled X - @eor wHIY 94. If2" =16, then xis
ﬂ 2) 8 1) 4 2)8
3) 32 4)5 3) 32 4)5
95, &Q&amgmd sTeimseflsd () Sar e 95. A perfect cube is &
6151 ? 1) 125 2) 36
o5 2) 36 3)75 4) 100
375 4) 100
96. i oeor au'L it uniuera) 84 Qai® 96, If the area of a semicircle is 8&'cm’,
sreuflsb ysusul L SHlar LuriueTa) ——— then the area of the circle is
1) 144 Qas® 2) 42 Qas® 1) 144 em’ 2) 42cm’
#iss Gar 4) 288 Qa1 3) 168 cm’ 4) 288 cm’
97. &m auLLSHear aflLih 84 Gaif. gz 97. The diameter of a circle is 84 ¢m,
ST L SHIT SOHMETE] —=—= 2 GLD the perimeter of a quadrant of
“?I%ﬁ 2) 120 Gl the circle is )
321 4) 42 Qaf 1) 150 em 2) 120 em™,
A 3)21 em 4) 42 em

388/109—3
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98.

99.

100.

101. i
Q&s® -

of

. W

102.

103.

Gs
&0

e ClamGansmr (né&Gasur gdlsr
UTLUSTEY

1)b x h &

(—t\xlxhﬂ
Vi

Il xbsgy
4) .zl, x h x (a+b)&gy

(T HTMEST S LTUIUSTE ———— &. D80G
1)/ x b
2)b % h

3}%xhx{a+b}

@< dx (it by

S L GHir STHLGSUTD enLouyd

2) 180"

3)270° 4) 360°

Spsaraid L SEeT LTILTS| ———-

A 2
Loy “

o WV

O s,

14 em

27 2) 278
3) 812 4) 616

FLPSHHTRTURTEUMMIST sTERNEY
&HGaTam SHIT USSRISMTS Ssnlown ?
Glef, 17 Gla.af, 8 Gla.b
2) 12 Qlg.1b, 10 Glaaf, 25 Glaaf
3) 6 Gl&.b, 7 Gla.b, 16 Gla.f
4) 8 Qe .f, 7 Gla.if, 16 Glaif

Spsergmn GCoram  geresafls
ClemGasmeamr WWasCanammGang siamindEin ?
=

-
4°, 66" 2) 36°, 64°
3) 62°, 48° 4) 68°, 32°

<

388/109—4
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98.

99.

100,

101.

102.

103,
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Area of a right angled triangle is

1) b = h sq.units

2) l x b x h sq.units

3) [ = b sq.units )
4) % « h x (a + b) sq.units

Area of a quadrilateral is ~-------
sq.units
1)/ =<b
2)b x h

3}%xhx{a+h] Lq“l

4]%xdx{h,+h1)

The angle is a quadrant of a circle is

1) 90° 2) 180"
3)270° 4) 360°

The area u'ﬁhe following figure is
2

i cm
o
g ©
I4cm
1)273 2)278
3) 812 4) 616 -

Which of the following will form the
sides of a triangle?

1)23em, 17 em, 8 em

2) 12 em, 10 em, 25 ¢m

3)6cecm, 7Tcm, 16 cm

4)8cem, 7em, 16 cm \Q

Which of the following will form a
right angled triangle, whose two

angles are :
1) 24° 66"
3) 62° 48°

2) 36°, 64°
4) 68°, 32°
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106.

107,

108.

109.

110,
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A ABC uigb ADEF -6, ZB = ZE, 104.
AB = DE, BC = EF seflsb @eney ———
SpliusnL& Gamstenaullsirug s st

) u—u-u 2) Gar-Car—Gar

Gam—u 4) Cam—u—-Gam

-5x’y? + 30x°y* - 576xy ereirp 105.
usRIMIUS GCarameauuflsr up ————

1) =576 2)4

3)5 o7

- 106.
1) 9216 2)93.6

3)9.216 2.16

6x* — x — 13 @eir @mysmilser (2x+3) 107.
LMD —————

(3‘;; - 5) 2) (3x +5)

3(5x-3) 4) (2x - 3)

@f aanenflsr  epsled Q@ unider 108,
Gsmmged g LkiBsT BEHsr Q@ LRIE 15

sTeefled ysClsustorenenmrés smetirs.

1) 400 2) 480
@50 4) 350

6 Qauff ysmaysitem eyamaail L &Bsblmia 109.
EGIHEET UNiLieTe) ~—— &

1)20 2) 36

3) 30 N L e -

\ A *:r'tﬁ'
.

A(53), B(-3,3), C(-3,-9), 110.

D (5, —4) a,@w ysrsflssmer @58
BT SHT60 EevL_&d G lpit auigaud
6T ?

1) #gmb 2)

www. TrbTnpsc.com
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In AABCand ADEF, /B = ZF,
AB = DE, BC = EF. The two triangles

are congruent under ---—-- axiom
1) SSS 2) AAA
3) SAS 4) ASA

The deglsni" the polynomial
xLszyJ 3 ﬂx“‘y* — 576Xy is ~—---

1) -576 2)4
3)5 47

7 H‘;
0.6% = e
1)9216 2) 93.6
3)9.216 4)92.16

If one factor of 6x° — x - 15 is (2x+3),
then the other factor is

1) (3x-5) 2) (3x + 5)

3) (5x-3) 4) (2x - 3)

IT one third of half of one fifth of a
number is 15, then the numbeq;i)s

1) 400
3) 450

2) 480
4) 350
.,

Area of a square whose diagonal is
6em, is
1) 20
3) 30

2) 36
418

A (51 3,]-! B {_31 3}1- C {_31 _4}1

D (5, —4) plot and join ABCD. What
figure do you get?
1) Square

3) Triangle

2) Quadrilateral

4) Rectangl:
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113, Quredsis :
i) QanuBss A) GCaamgsor L
i) Gumrweaflsr B) Glassbaflear (
Sjera
ili) sefe Qadiay C) Guomsd 2
iv) Hem D) &Gsurdlymby
Ni-B, ii-A ii-D iw-C
2)i-C, ii-D iii-A iv-B
3i-D, ii-B iii-C iv-A
B, ii-C iii-A iv=-D
114. oyugésid =7
aflene
-~ aflsns QewsuEd LTy
2)  Burien
&lGsumelimb
3 _ Hga syupssid
&liren sIbUGSSISET @ WD
4)  yeSluSiy pGidein
SIS
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4) Bus’ et ety ol
388/109—6

www. TrbTnpsc.com

111,

112.

113.

114.

115.

The water molecules come ta rest at
------ e Y% -
1) +237
3)+ 238

2) +237
4)-273

—-—— is the SI unit of Luminous
intensity. 5
) ampere
3) meter

2) second
4) candela
Match the following :

*®

i) Temperature A) Candela

ii) Amount of B) Kelvin
substance
iti) Luminous C) Mole
intensity -
iv) Mass D) Kilogram
Hi-B, ii—-A ii-D iv-C
2)i-C, ii-D iii-A iv-B
3)i=-D, ii-B iii—-C iv-A
)i-B, ii-C ui-A iv-D
Pressure =7 ey
1) Force
Area on which it acts
2) Newton
Kilogram
3) Liquid pressure

heightaf the liquid column
4) gravitational force
pressure

Earth excavator (JCB) works on
the principle of

1) Boyle's law

2) Charle’s law

3) Pascakg law

4) Newton's'law of gravitation
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Which is a Non contact force?
1) Electrostatic force
2) Friction

3) Kinetic force -
4) pushing the table
Our body contains - of wgter.
1) 30% 2) 70 %
3) 90% 4) 80 %
Example of Insulator

Sy
1) Rubber 2) Iron rod
3) Lemon Juice  4) Human body

—e
Lightning arrester was inventEthJ’ '
1) Benjamin Franklin

2) James Watt

3) George Simon Ohm

4) Michael Faraday

Why the tyres filled tightly with
air burst in hot summers?

1) Expansion of air by heat

2) Contraction of air by heat

3) Absence of air

4) No Change in air by heat

The object to be electroplated
act as --—-- --

1) Cathode -
2) Anode .
3) Cathode and Anode

4) None

. The lower portion of a charged

cloud generally carries --——--
1) a positive charge
1) a negative charge
3) air

4) no charge

TG

-
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SystrLid wmmid efleRmbsraafls o_sren
(pédlunorer seoflurkigs ———
1)H,C 2) He, Ne

» He 40, H
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1) Lo, Gyrels
FIreaT &T(H
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iv=-D
iv—-D
iv— R
v—A
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1) Garmod 2) ppeud g
C L 4) drlw giemsin

1)i-C
2)i-B

i=D
4)i-D

i - B
iii — A
iii — A
iii — B

i-A
ii-C
ii=C
ii—C
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The main elements in the
universe and stars are -—---

D H,C 2) He, Ne™%5
J) H, He 40, H

20% of Earth’s Oxygen is
produced by ----- -

1) Mangrove forest

2) Amazo rest

3) Ever green forest

4) Mountain forest

Example of Metalloids ----
1) Boron 2) Copiper.
3) Gold 4) Chromigi

When water freezes, its volume —--
1) Increases 2) Decreases
3) Doubled 4) Remainssame

Match the following :

Element Svmbol

i) Gold A) W

i)  Silver B) Hg

iii) Tungsten C) Ag

iv) Mercury D) Auy
1)1-C iji-A iii—-B iv-=-D
2)i-B ii-C iii—-A iv-D
3)i-D ii-C iii-A iv-B
4)i-D ii-C iii-B iv-A
The smallest particles of an <
element —---- ~3
1) compound 2) molecules
3) atom 4) smallest particles

Identify the law of Conservation of

mass;

1) Matter is made up of small
indivisible particles called atoms.

2) Atoms of the same elementarg
identical in all respects.

3) Mass can neither be created nor
destroyed during a physical or a
chemical change.

4) Atom is the smallest particle that
takes part in chemical reaction.
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2) International University of Physical
and Applied Chemistry.
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The electrode which is connected to

the negative terminal of the__‘hum:r_v

is called -—=----

1) Anode 2) High voltage
3) Cathode 4) Electrode
---=== is produced when one electron
is removed from one hydrogen atom
1) Proton 2) Electron

3) Neutron 4) lons

Fluorescent material -----
1) Zine Sulphate  2) Zinc
Chromate

3) Zinc Sulphide  4) Zinc Chloride

Expansion of IUPAC

1) International Union of Pure and
Applied Chemistry . _

2) International Uni.verﬁ'ib' of
Physical and Applied Chemistry.

3) Inter Union of Public and
Applied Chemistry.

4) International Unique Public
Administration and Corporation.

Bio-weedicides are the mechanism
of using micro organism such as ----
--- to destroy weeds.

1) Vi

2) Insects

3) Bacteria and fungi

4) Birds

The fusion of egg with sperm is
called ——=aceeee-

1) Menstruation or the périgd
2) Ovulation

3) Fertilization

4) Menopause
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136. ----- helps to prevent Thyroid glan
reiated diseases. s
1) lodine 2) Iron *is
3) Caleium 4) Potassium
137. Match the following :
i}  Monocot A)  Xylem,
Plant Phloem
1) Dicot Plant B) Center
cortex
ii) Root ) Parallel
Veinatior
et
iv) Stem D) Tap roo
system
-\"‘s
Di-C ii-D iii-B iv-A
2)i-D iji=B iii-A Ww-C
Ji-B ii—-A ii—-C iw-D
i-A i1i-C iii-D iv-B
138, --eeee- is a science which deals wit
diseases of plants, animals an
human beings caused by virn
bacteria and fungi.
1) Biology 2) Psychology
3) Zoology 4) Pathalggy
139. Cancerous cells transfer from on

place to another by -
1) Radiation

2) Virus

3) Blood streams

4) Chemical substances ™«
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Match the following :
i) Ball and A) Elbow
Socket Joint
ii) Hinge Joint B) Tarsal
Bones
iii) Gliding Joint  C)  Atlas
; and Axis
iv) Pivot Joint D) Hip Joint
)i-D "W-C iii-B iv—-A
2)i-B ii—-C ijii-A iv=-D
Hi-D ii-A ii-B iv-C
4)i-A u-B iii-C iv-D
o
Holes caused in the ozone layer
allow the harmful --—— to reach the
earth.
1) Cathode rays

2) Ultra Violet rays -
3) Infrared rays »
4) Electro Magnetic rays

The use of excessive amounts of -—-
--- may decrease the productivity of
the soil

1) fertilizer 2) soil erosion

3) pesticide 4) sewage

Air containg --—-——-- amuilnt of
Nitrogen

1) 20.9% 2) 0.03%

3) 50% 4) 78%

Bio — plastics are used in
1) Preserving 2) Packaging
3) Storage 4) Purifying

------- is the Bio
Technology.

1) Genetic Engineering
2) Chemistry

3) Plant Pathology

4) Crop Rotation

part of

S
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The Persian invader ---- took away
the peacock throne in A.D 1739

1) Adil Shah 2) Shershah

3) Rana Sanga 4) Nadir Shah

Peshwa Baji Rao captured Bassien
from the --—--———-
1) British
3) French

2) Portuguese
4) Dutch

The First Carnatic War ¢
end by the treaty of

1) Madras  2) Aix-la-Chappelle
3) Paris 4) Pondicherry

e 1o an

The Regulating Act was-gtroduced
in the year
1) 1773 AD
3) 1784 AD

2) 1772 AD
4) 1771 AD

—--- was the first to accept the
subsidiary alliance

1) Marathas

2) Rohillas

3) Tipu Sultan

4) Nizam of Hyderabad

Mﬂgghe following :

TN

i) Sherkhan a) branding
the horses
ii) Dagh bh) Pearl
mosque
iil) ~gpahjahan ¢) Sur
Dynasty
iv) Mot d) Prince of
Masjid Builders
)i-¢, ii—-a iii—-d W=h
2)i-a, ii-b iii-c iv-d
3)i-d, ii-¢ 1ii—-a iv-b
4)i—-b, ii—-d iii-c iv-a
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Akbar promulgated a new religion
called

1) Subah

3) Din-i-llahi

2) Khaisa

4) Diwani-i-Rasalath

Shivaji developed a peculiar type of
warfare called G

1) Rat warfare

2) Guerilla warfare

3) Horse warfare

4) Camel warfare

----- i;Mdly called as “Tiger of
Mysore”

1) Hyder Ali

3) Robert Clive

2) Tipu Sultan
4) Shivaji

Ryotwari  revenue
introduced by

1) Lord Hastings

2) Lord Wellesley
3) Minto |

4) Lord Warren Hastings

system  was

S

%

----—- has been called as the “Father
of modern currency”.

1) Sher Shah 2) Akbar . _

3) Babur 4) Hemu =

- The Treaty of purandhar was signed

between Shivaji and ------
1) Sultan of Bijapur

2) Balaji Viswanath

3) Raja Jai Singh

4) Nadir Shih

The First Viceroy of the Portuguese
Possessions in India was ....
1) Francisco — de — Almeida
2) Dupleix

3) Count-de-Lally

4) Alfonso — de- Albuquerque

~5
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In Bengal, Robert Clive introduced a
new system called ... :

1) Dyarchy 2) Ryom'ar?

3) Federal 4) Democracy

Sadar Diwani Adalat means
1) Civil court

2) Criminal court

3) Consumer court

4) Couneil

<

In TamilNadu, brown coal is mined

At =——mm

1) Mettur 2) Neyveli

3) Tuticorim, 4) Kalpakkam
Minerals are mined or extracted
from Earth’s ~=-e=-ee--

1) outer core 2) mantle

3) crust

4) Inner EQ{

Bio-fuels are now being produced
from ----
1) Jetropha
3) Ragi

2) Paddy
4) Cotton seed

The workers involved
quarternary activities are calleg?r---
1) White Collar

2) Blue Collar

3) Pink Collar

4) Gold Collar

India’s largest offshore oilfield"¥sin

1) Digboi 2) Mumbai High
3) Nariman 4) Kochi

1) Masai 2) Bedouin
3) Lapps 4) Rabari
i
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Perennial crops are
I) Tea and Coffee
2) Rice and Wheat
3) Cottor*and Jute
4) Barley and Maize

Ginning is the process used for
removing the seeds from the' -

fibre.
1) Cotton 2) Jute
3) Sugarcane 4) Paddy

The first fuel that was responsible

for the beginning of Industrial
Revolution. G

1) petrol 2) methane

3) coal 4) kerosene

Oil is foumd in the strata of Marine
--— rocks.

1) Igneous 2) Sedimentary

3) Metamorphic  4) Limestone
Resources that are not vyet been
utilized by man is call&d
resources,

1) Potential

2) Developed

3) Non-renewable
4) Renewable

e

Europe is a major user of -----
1) Solar power

2) Wind power

3) Hydro-electric power

4) Nuclear power

sugar from
sugarcane is a -—- activity.

1) primaty 2) secondary

3) tertiary 4) quinary
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India was divided into states on
linguistic basis in ——--—- b

1) 1950 AD 2) 1955 AD>

3) 1953 AD 4) 1956 AD

Prof.Dave's Education Commission
introduced Minimum  Level of
Learning to improve ----- education.
1) Primary School

2) High School

3) Nursery v

4) Higher Secondary School

The National Integration Day is —-—--

1) 19" November 2) 1™ November
3) 14" November 4) 8" Novémber

Jain Temple is located at

1) Mt K2 2) Mt Abu
3)Sanchi 4) Puri
R

In India, the states are divided on
the basis of -------
1) Religion
2) Physical boundaries
3) Language
4) Race
i
The Chairman of the National
Human  rights Commission is
appointed by the -—--
1) President
2) Prime minister
3J) Chief&“inister
4) Financé minister

----- of our Constitution prohibited
child labour.

1) Article 39 2) Article 45
3) Article 37 4) Article 24.
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